2015 £S5 11 [E IMC BIpRE 2R (FTD035)

Eleventh IMC International Mathematics Contest (singapore), 2015

B\=FfR REHNEFHS

HLVIN

© F1-16BFEBERERE NASERA !

© F17-18EFEHNBETHEEHFEREE  FRIAFED !
B iERE 1 2 3 4 5 6 7 8
% 2= D B A B A A B D
JEZe R 9 10 11 12 13 14 15 16
% ZE | 1010 32 225 330 14 62 1 549
— BEE (5/NES5 7 #£4053)
1. “(20145)x(20+15)" FTE4EEERDL 2015 HUBREE () -
A. 215 B. 850 C. 1025 D. 1165
ZZE:D
fE2 1 [H=206%35=2060x3+1030=2015%3+1165 °

2. BHEEEEFEUEREA “TxC =00 /[ & &/ ) #HA
—(E#ET > EAMEBEFITLE (. e
A. 0~4 B. 1~5 C.2~6 D. 3~7
EXE B
R T 4x13=52 -

3. ARSI :1-1~2-~3-5-8~13~ - {EE=TELET—THRHHEHAIRIE S
1> BREE (s ey EE 11 TEEE] 9 T fiMH= (- )e A1 B.8 C.13 D.15
BE A

4. gEEE B 12 [EARZIE - FEATRA(EZIE e By 30° » JIREE 20:15 Bl 15:20 FafEHs

7] > A EPEIIE SR A A EE (/A 180 By AED) 2 f1 (0 ).
A. KA 180° B. /A 180° C. %5 180° D. fEksleE

IMC B =0T HF1HHS5H




‘B

1 20:15 43$tHE 3 0 gt
15:20 533115 4 - HrgtiERE
A F1<180 f& -

] M
o3 Sk

|fE “8” 15 474% » #fy 15047.5 & ;
/& “3" 20 53¢ » 25 30—10 & ;

. A~ B~ C- D VUir B FAETEMS KA -

At "C—ERA TR 7 Bt @ "HAMIDEHEA AR ’%’ﬁ%ﬁﬁ 0
CHt: "ANMIDHEYSA &M " Dt "HEVRXEEL CK
MRUAFEAE -G TEH - HAF—ABH T7 - RG-S ETE

C e A A B. B C.C D. D
EE A

(1) A AL
(2) % B BT At ;
(3) % C ¥ C {25 D i ;
(4) Z D% D RS> H BREHAIB A1 > H CHMRITA GBI AL > TIE -

. AR T RO 0 o R T DAEUR 4 (8 BB h 2-7 %
SREZAHAR (AR - Bt ] Dl A B ~ Qe Eassges 180°8iE - A1FEE
B —REREL - MILIERE HEUREAREUR » AR V&Y () REAR

2015 ik 5312 - min 1 |
23450 a5

il
A.3 B.5 C.7 D. 11
SEA | cooal o
R L EIRMEIE 5012 - 8 0 Bk 3N - | IC| [T I

. TERAEN T —EESPE (B2 A\EBHEE > FEAERE - HUEEE A 0 5
— B A AR E A D - FER T — (R A A RS A R R B L T P - AR
FRRRAELER RS 4 N AVEREESRAS () A

A. 25 B. 36 C. 49 D. 64

EE Y-

7 T SNBILLPIEZ 8 A » ORI 4 A+ RIS 12 A+ FRAME 20 A
436 A -

IMC B =0T F2HH5H



8.

How many triangles ( =f4f ) are there in the figure at the right?
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What is the difference between 202x5555 and 222x50507?
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